
Cube  4

9F10
stable

6C76C6
stable

5B5 5B6

4Be5

2He2
(stable)

3Li43Li3

Cube 1

Cube 1

Cube 2

Stable because the Assembly is neatly closed, all  edges 
occupied, and all bonds are cis-phasic.

Cube 1

Cube 1

2He1
(stable) 

This is the only  stable assembly that  breaks the rule of one neutron per 
proton. The proposed reason is that the structure is chirally complete 
despite exposed ends of the protons 

neutron

proton

proton

Cube 1

Cube 1

neutron

proton
proton

neutron

1H0

Atomic 
Hydrogen
(stable)

1H1
D, Atomic Hydrogen
(stable) (deuterium)

Cube 1

Cube 1

At the most basic level the simplest nucleus consists of a single 
proton with a particule structure. The single proton can exist with 
its ends exposed. 

proton

Cube 1

Cube 1

The stability of this nuclide is attributed to the single proton and  
neutron forming an overlapping linear structure using cis-phasic 
bonds.

neutronproton

(stable)
(stable)

(stable)

Cube 1

Cube 2

The structure is predicted to be a 4p 4n polymer loop, with a bridge 
neutron. The bridge neutron partitions the asymmetrical  assembly 
into two individually complete sub-assemblies. 

Cube  1

(stable) (stable)

Cube  2

The structure neatly and completely fills two cubes, using only 
proton-to-neutron cis-phasic bonds (p#n), hence stability.

Cube  1

Cube  2

A bridge neutron is an optional structure. The assembly is stable 
because the bridge creates two full cubes. 

Cube  1

Cube  2

Cube  3

The stability arises because the neutron takes a bridge location 
and thereby partitions the structure into a stable pair of cubes 
(1 and 2), and a lamellar plate (3).

Cube  1

Cube  2

Cube  3

This nuclide is stable with n=p=6 because there is a 
symmetrical structure that is available.

Cube  1

Cube  3

Cube  2

7N7 7N8

p

n

stable stable

Cube  1

Cube  2

Cube  3

The stability arises because the polymer is able to fill three 
cubes exactly. 

p

n

The stability arises because there is space for a bridge neutron, 
and all the subassemblies (single cube and a 2-CUBE) are 
complete,

Cube  1

Cube  2

Cube  3

Cube  4

8O10
stable

The stability arises because there is space for bridge neutrons, 
and all the subassemblies (lamellar, single cube and a 2-CUBE) 
are complete.

8O9
stable

The stability arises because there is space for bridge neutrons, 
and all the subassemblies are complete.

Cube  1

Cube  2

Cube  3

Cube  4

8O8
stable

Cube  1

Cube  2

Cube  3

This nuclide is stable because it is possible to achieve a 
symmetrical layout with a simple looped polymer of cis-phasic 
joints. No bridge neutrons are necessary (they are optional, 
see 8O9).

Cube  1

Cube  2

Cube  3

Cube  4

The stability arises because all subassemblies are complete, 
and all bonds are cis-phasic. 

10Ne11 10Ne12
stable 

Cube  5

Cube  1

Cube  2

Cube  3

Cube  4

10Ne10
stable 

stable 

Cube  5

Cube  1

Cube  2

Cube  3

Cube  4

1 Open: One 
nucleon in 

an open 
chain

3 Open: Three 
nucleons in an 

open chain

1 Lamellar plate 
structure (Four  

nucleons)

1 Lamellar plate + 1 
Lamellar plate (Two 

plates + bridge 
neutron)

1 Lamellar plate + 
1 Cube (includes 
bridge neutron)

1 Lamellar plate + 2 
Cubes (includes 1 
bridge neutron)

1 Cube

1 Cube + 1 
Cube  

(includes 1 
bridge 

neutron)

1 Cube + 2  
Cube  

(includes 1 
bridge 

neutron)

1 Lamellar plate + 1 
Cube + 2 Cubes 

(includes 2 bridge 
neutrons)

1 Lamellar plate + 
3  Cubes (includes 
1 bridge neutron)

1 Cube + 3  
Cube  

(includes 1 
bridge 

neutron)

1 Lamellar plate + 4  
Cubes (includes 1 
bridge neutron)

1 Lamellar plate + 1 
Cube + 3 Cubes 

(includes 2 bridge 
neutrons)

1 Cube
 (complete)

2 Cube
(complete)

3 Cube 
Incomplete

(-2 nucleons)

3 Cube
(complete)

4 Cube 
Incomplete

(-2 nucleons)

5 Cube 
Incomplete

(-2 nucleons)

(2) Symmetrical 
structures

Nuclides on the n=p line are 
symmetrical, and can achieve 
this by the nuclear polymer 
covering the perimeter of one 
or more cubes either (a) 
completely, or (b) missing one 
nucleon from each of the two   
end cubes.  No bridge 
neutrons are possible on the 
n=p line.

(3)Asymmetrical 
structures
Stable Nuclides with n>p have 
bridge neutrons. They achieve 
this by having COMPLETE 
SUBASSEMBLIES. These 
comprise combinations of  a 
lamellar, 1-, 2-, 3-Cubes, and 
4-star.  

(1) Open structures

A limited number of 
opportunities exist for open 
polymer structures. Since they 
are open, they can omit one 
neutron from the chain. The 
open structures stop at two 
protons: adding a third closes 
the cube and therefore closes 
the nuclear polymer.

Simple pair

Cube  5

Cube  3

Cube  4

Cube  2

Cube  1
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